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INSTRUCTIONS TOTHECANDIDATES

. The admission to the examination is

visional. In the event of any information
furnished by the candidate found false/
incorrect/incomplete detected at any
stage, the candidature shall be rejected.

. Darken the circles in the OMR sheet

completely with Black/Blue ball point pen
only, Partial darkening shall not be
evaluated.

. Darkening two or more circles completely /

partially shall not be evaluated.

. Changing the darkened circle in any

manner putting ‘x” mark/using white
fluid/ erasing by rubber/blade etc. shall not
be evaluated.

. This question booklet shall not be opened

until instructed. Write your Roll No.
correctly in this booklet as well as in the
OMR answer-sheet.

. The candidate should check the No. of

Printed Pages and Questions along with
their Serial Nos. In case of any discrepancy
found, exchange the defective one and
collect another correct one from the
invigilator within 5 (five) minutes and
thereafter no complaint shall be
entertained.

. The examination shall be conducted as per

.11;28 sOdlsha Conduct of Examination Act,
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Each question has four possible answers. Choose the correct answer from among them and
darken the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.

g Q18 6 SRITRIS
SHILD DEVELOPMENT & PEDAGOGY 4

1. 6040 000 8860 9@ anaw ged ¢ 1. Which of the following is not a demerit
of group learning ?
(A) 709 oG Seen Qo gRide eue (A) Being influenced by a certain
individual
(B) 6@60Q 88181 Ge0 QM S90 008 (B) Some students exhibit their
dominance
(C) eNad Qidiq AOYS SWea AAIDR @ (C) Not completing a task in an
GER appropriate manner
MQ doieh aye ana SFeaiqe (D) Many students don’t get the
QRIS DINTISS opportunity to utilize enough time
‘ - N4 in an activity
2. €960 QNIPe SE0FWIPa ¥uY amer | z.  vwmch one of the following is not a major
Q6% 7 : concept of social constructivism ?
(A) 1996 (A) Reality
(B) aR (B) Knowledge
(C) @sa (C) Learning
Mm cS10G0 69 (D) None of these
3.  Which of the following is a characteristic
3. cod0 Zefcea SMNAN S8 U6 ? of inclusive school 7
(A) Arrangement of separate classroom
(A) Sean AARE 219 zeg 6gal for differently abled students,
eQI0da vedl (B) Students are imparted as per their
(B) dmighIRe Qindy Geea 9ae capability.
caaIeaa (C) Weakness of students is given
M Qdeaq Bue QAR PaaN special attention.
(D) Parents are an integral part of
\)rg’qﬁxnse el apeidea) learning process.
cRIRaS
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Who has written the book, “Theory of
Motivation™ in which he has given 24
theories of motivation ?
(A) K.B. Madson
(B) Atkinson
(C) H.W. Bernard
(D) D.O. Hebb

*Learning is a change in behaviour due
to punishment and reinforcement”- Who
said it ?

(A) Skinner

(B) Gates

(C) Cavellin

(D) Limball

What was the recommendation made by
the National Education Policy (1986) in
relation to Integrated Education ?

(A) Students, who need different
learning technique and
requirement, will learn together,

(B) Regular class teachers will take
responsibility for teaching.

(C) Less and moderately differently
abled students will
education
schools.

(D) Special schools for differently abled
students.

receive
in regular/normal

At what age, in a child does emotion, like

2I69a0 S0 cRIRaN ? curiosity and shyness develop ?
(A) 294 (A) 2yrs.
W (B) 5yrs
© 12 od (€) 12yrs.
(D) 1894 (D) 18 yrs. &
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8. 980 ofeg efras Baihg wuel 989 | 8. Ifalearner, notinterested in Mathematics,
duQ6Q, 380 TOgY CRIRRAIM | 9P is forced to study the subject, then the
2IPINRS o6 880 Fan Beds 7 learning is not fruitful. This is explained

by which law of Thorndike ?
(A) oowg Ran {A) Laws of exercise
(B) Ran (B) Laws of readiness
(C) odan fan (C) Laws of effect
(D) adeess dse fan Nege Q6¥ (D) Doesn’t belong to any law of
Thorndike

9. BN 28060 GNRS AFQ OB QR @8 | 9. In tribal areas, which is a function
ewe Q;m QEAIT 6091 FN6S QR aAg organised by Srujan to provide an
6adl e eaIaIea ? opportunity to students to let go of fear

and express themselves freely ?
(A) edige aifes age (A) Oral literature collection
o (B} _Rede dae ang 9ge (B) Preparation of bilingual teaching
1 aids
(C) Q@ e (C) Story telling festival
(D) @10, |y aee (D) Song and dance festival
10. 2 QIe%6Ee eENE! d8 QRN 604 | 10.  Inour state, under multilingual education
fIgIee TI0igee 99e cageel ? programme, books have not been
- - - published in which of the following
languages ?
(A) @aR (A) Kisan
(B) &= (B) Koya
€) wgd (C) Bhatudi
(D) Gef (D) Oram
11. adeees 998 Fang oey udsa @6 - | 11, “Law of Readiness™ of Thorndike is also
known as :
(A | Ban (A) Law of motivation
(B) weua Gan (B) Law of exercise
© owen fan (€ Law of use
(D) BHERO fan (D) Law of disuse
4 (Cantinuad)\
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SET - A
Who is the creator of operant conditioning, ?
(A) Rousscau
(B) AS. Neil
(C) B.F. Skinner
(D) P.C. Wren

Which of the following is not a rule for
preparing completion type of questions ?

(A) Blanks should not be kept in the
beginning of a sentence oOr
statement.

(B) There can be multiple blanks in a
single question.

(C) A sentence having ambiguity in
meaning should not be used.

(D) The length of blanks in the question
must be nearly.

Who gave importance to self realisation
as a medium for further research on

personality development ?
(A) Allport

(B) Ragors

(C) Malati Mattu

(D) Chadha

Which is not an element of influencing

Qe ? the personality of a child ?
(A) <raqe (A) Heredity
(B) 08608 (B) Environment
(C) 9w > (C) Health
Dy Tiea (D) _School
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Which of the following is not an

educational of

implication
constructivism ?

(A)
(B)

(©)

Creating scope for self analysis
Inspire child to frame questions
Learning to be controlled by
teachers

(D) Giving importance to realistic
approach for problem solving

What is the name of the committee
established in 1958-59 pertaining to
women education ?

(A) Kothari Committee

(B) Mudaliar Committee

(C) Durga Bai Deshmukh Committee
(D) Radhakrishna Committee

Which of the following is a provision

under Persons with Disabilities
Act - 1995 ?
(A) Free education till 14 yrs. of age.

(B) Provision of only one language in
the curriculum for hearing impaired
children.

Provision of financial assistance for
regular attendance.

None of the above,

(©
(D)

According to which article of RTE-2009,
any form of physical or mental
punishment cannot be administered to a
child ?

(A) Article 14(2)

(B) Artilcle 17(1)

(C) Aticle 24(1-A)

(D) Article 29(2)
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In which system, regular teachers and
resourceful teachers take responsibility for
education of differently abled students ?

(A)
(B)
(©)
(D)

Integrated education
Inclusive education
Special education

General education

Students suffering from cerebral palsy
requires which teaching method ?

(A) Oral method

(B) Play way method
(C) Project method
(D) Role play method

“Motivation is the central factor in the
effective management of the process of
learning, Some type of motivation must
be present in all learning”. Who said
this ?
(A)
(B)
(©)
(D)

Atkinson
Kelly
Skinner
Guilford

According to UNCRC, compulsory
elementary education comes under which
right of a child ?

(A) SEQIQ YIS (A) Right to live
(B) Qa6 ZYRIG (B) Right of development
(©) QeBIe ZRK (C) Right to safety
\ (D) o998 200 ARG (D) Right of participation =
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Which of the following statement is not

true about development ?

(A) Development proceeds more
rapidly in carly years of life.

(B) Development occurs at different
rates for different parts of the body.

(C) Development is caused by heredity
alone.

(D) Development follows an orderly

sequence,

Which of the following is not a law of
heredity as propounded by Mandel ?

(A) Like begets like
(B) Law of variation
(C) Law of regression

(D) Law of unusualness

A good teacher is to :

(A) provide knowledge and prepare the
students for examination.

(B) prepare the students for right

answers to be written in
examination.

(C) provide authentic learning
situations and facilitate
independent thinking among the
students,

(D) follow the time table and course
strictly.
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27. SR QIONN DIIS-2005 @ Midiodt 6% | 27. Which of the following is related to the
QO6 60uS Ao ¢ principles under NCF-2005 ?

(A) GIRIER B9 U0 BN INOE QoG (A) Students acquire knowledge in their
n own way.
(B) s Qo S84 Ml eRiIQE (B) Rote learning results in longer
retention,
(C) 8895 9g 0 QeI 0 ye Sy (C) Student unable * ‘tter by
N asking questior 9/ 38
(D) QAQY QARIRARS 9Qal WIR (D) Problem solving approacn helps in
uLageq QIae 94 acquiring knowledge.

28. @84 MO0 FFRNIER CANSSS WIEWISE | 28. Teachers are advised to involve their
9986 QIdignsa Qfie *E9Iq oand students in group activities because,
ORI | CANER QWY SRS . besides learning they help in:

(A) <@ (A) Conflict

(B) sl (B) Jealousy

(C) Seauneidy (C) Aggression
L(D)/emﬁema (D) Socialisation

29, QO SAIPI DI0ER 0P ais GNIAIRGS | 29. Knowing the ability of children to study

QB80! 28 FH-6R0 9RIeR ARUKR 7 a new English language textbook comes
under which type of evaluation ?
(B) @GORAER 1 (B) F(?m.mﬁve
(C) PRI (C) Diagnostic
(D) QNIGYee (D) Summative
30. codd B QiR QaIes BSES f6¢ ? 30. Which of the following is not a
characteristic of learning activity ?
(A) ZIRROIA! (A) Joytul
(B) Qe gede (B) Demonstration by teachers
(C) uRRER (C) Challenging
(D) <ewe cdlae o geam 8 (D) Opportunity for multiple skill
development
Eliiee (9 (Continued)
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-

(C) scae
(D) od

uUead da daugh g e0lsea @e ?

(A) w2 edlodweoe So1a Ao

(B) RGe gaee! oo afien Qand

(C) 9o a5 SQ AP RER b

(D RISRIY 49G6a 9R1e eEIER
QRIDY P68

58.

59.

(C) SMea

Page |14
o1 ~| A
‘wIEee oa oD’ 28 goee qP S

(A) 06 cad
(B) @m09 €60 Qe g2
(C) oOeg Ade!

(D) zRad de

6900 doie YIel 8060 gan 8 Y 7
(A) oo

(B) Qe

i
(D) “ofsea

60. 6ed gom Seiree Saia Qe Gaigd pER

SRR QAT 61T 2 2

LI

(B) ge
(©) gemne

(D) s
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b1,

(A)
(B)

When |
Chess.

Page |15

[ L-ENGLISH )

. bhim, he was playing

5o
saw

\I()/ have seen

(D)

62.

had seen

Hemant could not reach the station in

tme owing to

(A)

(B
<)

(D)

63.

heavy traffics
heavy traffic
lots of traffics
much traffics

Which of the following is correctly

punctuated ?

(A)

(B)

’—/

(<)

(D)

(A)
(B)
(C

He said to me be prepared for the
worst.

He said to me “Be prepared for the
worst.”
He said to me, “be prepared for the
worst.”
He said to me, Be prepared for the

worst

Our Constitution recommends English as

a co;pulsory subject in education

a language of admission
iate official language

(D) a lingua franca

65.

Formative assessment does not help in

(A)
(B)

(©
(D)

identifying the learner’s weaknesses
in learning,
providing opportunity to the
learners to improve their work after
getting feedback. '
enabling teachers to modify
teaching-learning strategies.
enabling learners to secure good
rks.

66. The detailed and careful technique of
reading a text is known as ‘

(A)
(B)
\‘(S)/inlemive reading,

(D) extensive reading

skimming

scanning

67. She avoids
&)/40 go
(B) go
(€) going

(D) to going

there.

[ 68. Substifution table rillshélps the teachers
in .
(A) eloping free writing skills
¥ (B) evaluating the listening skills

: (9 imptovins fluency of learners

vag controlled language practice

69. The categorywise action verbs list was
developed by

(A) BS. Bloom
(B) RCEM approach
(C) Robert Mager
(D) _Robert Miller
70. They have been studying
t__(A) baed all day at home
(B) all day hard at home
(C) _at home hard all day

(D) hard at home all dav
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71.  Learning English in India is important 76.
because o

(A) it is taught in all English Medium
schools.

(B) it is the language of our powerful
colonizers.

(C) itisa foreign language. \

Page |16

a bike,
Neither of the boys a bike

(A) _has got

(B) was got

(C) have got

(D) has been got

Muxﬁ.ﬁgﬁ? :ou:ft:fu““e " 7 He gave me PO
' (A) an
72. Hema told me story, (B) a
(A) a fantastic ghost incredible (C) the
(D) many

)Mantasﬁc incredible ghost
LISF an incredible fantastic ghost
(D) an incredible ghost fantastic 78

73. Continuous comprehensive evaluation

He has been ill Monday last.
(A) to

emphasises _(B)_since

(A) product evaluation

(B) evaluation
\()(:r:ee:d evaluation '

(€ in
(D) for

(D) summative 79. When, in a specific situation, rules are
applied, we call the method
74. When a part of the word is spoken (A) deductive
. P d '
emphatically, itis called “}W Midicas
(A) pause s
(C) inductive

(B) intonation
M
(D) pronunciation
80.
75. He was ashamed his
misbehaviour,
(A) with

(D) correlative

There Sh()llld be a 'wOrd bﬂﬂk' in eve
; i
primary school because it helps build-up

(A) conception

(B) for (Bl —vecabulary \

QT

(D) in

(C)  writing skill
(D) reading readiness
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Read the passage carefully and answer the | 82. How is the job of a farmer ?
questions (No. 81 to 85) that follow choosing
the correct alternatives given : (A) Fleasant
(B) Strenuous
The bulk of our population i
' iy P P‘J is poor and (C) Delightful
illiterate, ult education poses a lot of
problems. On the one hand, there is shortage (D) Easy
of teachers for adult education and on the other
hand, the adults feel shy of starting to learn at
a late age. Moreover, as most of the villagers | 83. What do the village people find about the
are farmers and the job of a farmer is very education given at the adult centers ?
strenuous, an adult villager has little time to (A) The education is costly
spare for attending classes. In addition, he finds ‘
that what is taught at adult centers of education (B) Leamning is difficult
he is not interested in it. It is necessary to make
adult education more meaningful for farmers (D) The education has no bearing on
in the villages. It should be made useful and Chishy dndty visacis
work-based to arouse the interest of the adult
villagers. The teachers should adopt a system '
of education in which earning and learning go 84. :::v nﬁ:;:ld:g: sr‘;:;o;‘ be made more
together. Efforts to enhance adult education
will ultimately discourage the need to migrate (A) Itshould be useful and work-based.
to towns for better earning. (B) It should be cheap.
(C) It should not be strenuous.
(D) It should be enjovable.
81. What poses a problem for adult L
education ?
85. The word ‘bearing’ in the passage is
(A) Illiteracy i
(A) an adjectiv
(B) Poverty .
(B) an adverb
(C) Shortage of teachers 7
(D) Village environment (D) averb
YTt » ‘33‘
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Read the passage carefully and answer the
questions (No. 86 to 90) that follow choosing
the correct alternatives given :

Yet another great defect of our civilization
is that it does not know what to do with its
knowledge. Science, as we have seen, has given
us powers fit for Gods, vet we use them like
small children,

For example, we do not know how to
manage our machines. Machines, as | have
already explained, were made to be man's
servants; vet he has grown so dependent on
them that they are in a fair way to become his
masters. Already most men spend most of their
lives looking after and waiting upon machines.
And the machines are very stern masters, They
must be fed with coal, and given petrol to drink,
and oil to wash with and must be kept at the
right temperature. And if they do not get their

Page |18
T—

I'he machines, 86C ording to the writer, are

- in a fair way o become man’s masters
.

because of his

(A)_-too much dependence on them
St -~

(B) knowledge with which he manages

\ machines

(C) faith in the powers of the machines

(D) too little dependence on them
|

Machines must be given
wash with,

(A) petrol
(B) coal

€

(D) right temperature

meals when they expect them, they grow sulky | 89, According to the writer the machines
and refuse to work, or burst with rage, and blow must get their meals when they
up, and spread ruin and destruction all around them.
them. So we have to wait upon them very (A) demand
attentively and do all that we can to keep them ®B) e .
in a good temper, Already we find it difficult ‘“/,zpec
either to work or play without the machines, (€) want \
andatimemaycomewhenth.eywulmleus (D) usually get
together, just as we rule the animals.
90. - r 2
86. ____ does not know what to do e P In the passage means
with its knowledge. .
(A) Science \ Mmy
(B) Man (B)  tolose temper
(C) Machine (©) to wamn
OTET/P-1 (34)
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91.

92.

93.

360 & 69T QAR AW ER6O 7

(A) 20
(B) 22
(C) 24
(D) 26

Page |19

Sl - | A

(@§ie / MATHEMATICS

adioea 98 0PaIeR o8el aId 699 0888 | 92.

BORAS QAN 7
(A) zeQUQ
(B) QU
(C) Segua

(D) Q°6qaa

6OITY ZOINIQ TSR 0aQl 79 Aea | | 93.

IRIe QIGAINER QIF 699 TIN ACe] T6
2QI960 T 2244 ¢¢ 94 | @G0T cagae

6R60 7
(A) 8453 m?
(B) 8325 m?

91.

What will be the total number of factors
of 360 ?

(A)
(B)
(©)
(D)

20
22
24
26

Which method is adopted to establish
formula in Mathematics ?

(A)
(B)
©
(D)

Induction
Deduction
Analysis
Synthesis

A rectangular garden is 79 m wide. It
costs T 2244 to fence it at T 6 per meter.
What is the area of this garden ?

(A)
(B)
(©)
(D)

8453 m?
8325 m?
8532 m?
8345 m?

o gy a1 919 / SPACE FOR ROUGH WORK
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94.

95.

96.

Q9 N214ad , 4 QO TS 9, 6669 ‘a’
@ QAIN FJRY Q°GNYI 6966 629 7

(A) 3
B) 4
© 5
(D) 6

696 G200 QWG 2,3, 4,5 6 8 7 QIR
RIS QER, NUGEEE AAIQEN 1,2,3,4,5 8
0 (ge) cee ?

(A) 419
(B) 278
(C) 119
(D) 121

EqIT 000 Qe Qa1 A 126QA 6
Q99! 2 §. cR6R, YRIR 9QYEa 68T
ER6 7

(A) 3.95 m?
(B) 7.4 m?
(C) 197 m?
(D) 8.02 m?

94.

95.

96.

Page |20

SET -(A)

If 3214a4 is a number divisible by 4,
without leaving any remainder then the
number of possible values of a is :

(A) 3

(B) 4

€ 5

(D) 6

What is the smallest number which when
divided by 2, 3, 4, 5, 6 and 7 leaving
remainder 1, 2, 3, 4, 5 and 0 (zero)

respectively ?
(A) 419
(B) 278
<€) 119
(D) 121

The diameter of the base and height of a
cylinder are 1 m 12 cm and 2 m

respectively. What is its curved surface
Area ?

(A) 3.95 m?
(B) 7.04 m?
(C) 197 m?
(D) 8.02 m?

oa @iy 018 219 / SPACE FOR ROUGH WORK

Latast Sarkon Jobs, Govl Exam Rosulls,

Viaeoneos and updotos on ond clhek




97.

98.

99.

98 5960 AB Q89 41 6269 x @ A
faeal

(A) 40°
(B) 50"
(C) 60°
(D) 80°

—

1,4,2,8,6,24,22,88, __ ,  oode
QHIGAER YN GHRRER 698 aT Qa)
e §nd O] eve 7
(A) 84, 258
(B) 86, 264

336

6090 6d6a 63881 9P @6Q QIF 7

(A) afna Ime

(B) 0e@qee gages dae
(C) uIeREae SRR

(D) Q6e IRe

97.

98.

99.

In the given figure, if AB is the diameter
of the circle, find the value of x.

(A) 40°

(B) 50°

(C) 60°

(D) 8o0°

1, 4,2, 8,6, 24, 22, 88, ’ =
In the given sequence of numbers, what
will be the next two values ?

(A) 84, 258
(B) 86, 264
(C) 84,336
(D) 86, 344

Which one does not signify the features
of Mathematics ?

(A) Science of Magnitude

(B) Science of Logical Reasoning
(€) Science of Behaviour

(D) Science of Calculation

o @idy aid A / SPACE FOR ROUGH WORK

Latast Sarkon Jobs, Govl Exam Rosulls,

vacaneios and updates on one click




100. QUSE It 4R FLIeRea gogRer 9a26 | | 100.

a1 Qi 60% 6RIG TIQ 78 HQ EREED
SR 626R | 28 85 ¢4 6RIC AINT 6RIRAIN,
6669 ERIGER Q60 U@ 6RIT 62K ?

(A) 562
(B) 482
(C) 475
(D) 745

101. 6QITN QEN aBgea gden 28 Qe | 101

6960 7
(A) 4
(B) 5
(C) 6
(D) 7

102. c9l8Q IQ9a 60a odyaca dames | 102.

QIfide TINNGIRa Al AR 0856

eLiQaizNg ?

(A) QERQINIEER

(B) 9IQ @@y

SO0 aqudy

(D) Qaiga QI

Page |22

SET -(A]

Two candidates contested for a post in
an election. The winner secured 60% of
votes and won by 78 votes. [f 85 votes
were declared invalid, then what was the

number of polling ?
(A) 562
(B) 482

(C) 475
(D) 745

How many lines of symmetry are there
in a regular pentagon ?

(A) 4
(B) 5
() 6
D)y 7

Inwhich period of cognitive development,
children acquainted with Mathematical
conversation ?

(A) Sensory motor

(B) Pre-operation

(C) Concrete operation
(D) Formal operation

o @iy aiel 919 / SPACE FOR ROUGH WORK
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103,

104.

105.

PQRS @QEe9, P,Q R G S caig 06
3:7:6:4 UQDINER QLB, 6OEQ -

(A)
(B)
(©)
(D)

PS || QR
PQ || SR
PRI QS
PQ | QR

FOSYe MRIQ 6960 ade daiiea Boe
REVEY N9 QAN AIQ 99 LTINS
32109 Q6% ?

(A) gHNGRe 99
(B) €891 NN
(C) QFe edQ!
(D) 9Re

6AITN 980 5 20 04 Al | 62268

i = .1
12 e 0if @8 089 06a gata - zra

@@ 02QI | €069 62 QAT and HIPAS!
696F  6Q%6R 669 @9
eEaIae ?

(A) 36 4.
(B) 424.
(C) 48 4.
(D) 54 &.

103.

104.

105.

Page |23

SeT - (A

Ifangles P, Q, R and S of the quadrilateral
PQRS taken in order, are in the
ratio 3 : 7 : 6 : 4, then

(A) PSJIQR
(B) PQJ|SR
(C) PRJQS
(D) PQJIQR

Which one of the following is not linked
with aims of teaching Mathematics ?

(A)
(B)
(€)
(D)

Recognise
Classify
Infer

Understanding
23/ 38

A tank was 1—/2-“\ part filled with wate ™=

w

1
On adding 12 [ of water to it, EU\ of the

space was till left empty. What is the total -
quantity of water required to fill up the
tank when its empty ?

(A) 36 lit.
(B) 42 lit.
(C) 48 lit.
(D) 54 lit

0@ @Iy aIg A9 / SPACE FOR ROUGH WORK
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106. 6SITN MG DINGURS 6544, OR 8 Q90!

107,

gagen 12 4., 98. 6 8 A. | wWiIg F
3 8. o1 Qipdds cReeif ANDRER 0dae
SRUDIRDES 7

(A) 32
(B) 28
© 24

(D) 48

QIS CHRRIQ 12% AINER I SaITa! |
EULAITE T 240 AYQ Q106 §C
QATINYER, 15% AN CRARAIBI | 6669
EHRGITR B4 Q1N 6960 7

106.

107.

Page |24

SET -(A]

A metallic cuboid has length 12 m,
breadth 9 m and height 8 m. How many
cubes of edge 3 m can be cut out of it ?
(A) 32

(B) 28

€) 24

(D) 48

A toy was sold for a profit of 12%. If it
was sold for ¥ 2.40 more than it was sold
for, then profit would have been 15%,
What is the cost price of the toy ?

(A) T114 (A) 114
(B) T80 (B) T80
(€ T € T
(D) 75 (D) 75

o QIdy 91 219 / SPACE FOR ROUGH WORK
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SeT -(A)

108. QIE6QIT QA6 €AIT 9d6n 60109 1§ | 108. The paddy produce of 5 blocks are

aQIeR B9ogee gode | QraFen fIng depicted as A, B, C, D, E in the given
A, B,C, D, E 60 FRI0108 | E QR 2608 pie chart. If the produce of E is 40 quintal
C ]R6 KQI9F 40 JUQ, LY CAIRYER, more than C, then what is the total
A QR0 RV 6960 7 produce of A ?

(A) 672 faIR (A) 672 quintal
(B) 824 QIR (B) 824 quintal
25/ 38
(C) 762 R8N, (C) 762 quintal
(D) 912 GaiR (D) 912 quintal

e@ Qidy aig 819 / SPACE FOR ROUGH WORK
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SET - (A

109. D 109. D
108° Al )108°
8 51 AL
E < 0 E €
§R% ABC 681 ZDAC 4@ o919 614 | 00 In given AABC, ZDAC is the exterior
AB=AE 8 AE=EC 24, ZABE @ 98qié angle. If AB=AE and AE=EC,
6960 7 calculate ZABE :
(A) 18° (A) 18°
(B) 36° (B) 36°
(C) 48° (C) 48°
(D) 72° (D) 72°
110. HgQ €0 ofena Qad 5 8 5 QU6 | 110. Which of the following rational numbers
o , 7 "
72980 7 lies between 9 and - ['4
3 3
A 3 @ 3
15 15
(B) 16 (B) 16
12 12
© 1 1 © 77
o - 3
- @) %

e 1Y aIel 99 / SPACE FOR ROUGH WORK
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“uneel 6208 adoa @, @q a9
. geaien 629, A% IR TR Qe Pde
05R5] TeEe Q60" - A& aipa 7

(A) 69. Guee
(B) [AAR 20Q
(€)_Eeed

(D) &90Q 88Q

112. 0372 + 0.1363 Q F}94 6969 ?

3
N ==
41
B) 0
9
© 3
1
D) 3

113. QR MG 696E 9 ANGKNS % 6988

uee ? ' )
(A) Gds eea fyeIq daidie Fe8
EROIA Q6N QRUITIG 29

Foicha QRAEIRe! 8 58I AaRI A
dola edand |

agidha zndqQ *AQIREN |
Faicha anQyl AAIRIF @61 ANRER

oen fdaidqand |

(B)

©
(D)

111,

112.

113.

Page |27

seT-(A)

“ Abstraction is the strength of
Mathematics, but it will be useful if it
involves maximum number of specific
situations.” - Who said it 7

(A) J. Piaget

(B) Lipman Bers

(C) Hilbert

(D) James Jeans

What is the sum of 0.272 + 0.1363 ?

Which of—the following is the

characteristic of open ended questions ?

(A) Unavailability of specific answer
impairs a student’s ability to reach
ac ion.

(B) It improves the creativity and

thinking capacity of a student.

It reduces student’s self-confidence.

It is impossible to evaluate the

problem solving competency of a

student.

(€)
(D)

ag @idy aid @R/ SPACE FOR ROUGH WORK
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114. 6QUGN Q41, g5 1 A%6a 15 AGe ana

115.

TR EQHINM | 98 300 pm ERER VUG
@9i58q O] ana 60! &F 2IRINea
QY ST, 6069 6QF VYR 8:00 pm
ERI E99] ORE ANA 6REE CRINYSD 7
(A) 7 pm
(B) 6:45 pm
(C) 915 pm

(D) 7:30 pm

10a+5
H D G

@@ 966a AB||HG 626®, a @ AIF 6966 ?

(A) 15
(B) 2.5
(€ 7.5

(D) 5

114,

115.

Page |28

SET -(A ]

A clock shows 15 minutes extra time per
hour. If it is set at accurate value at
3:00 pm, what will be the actual time

when this clock shows 8:00 pm ?

(A) 7 pm
(B) 645 pm
(C) 9:15 pm
(D) 7:30 pm
E
A
5 B
H 10a+5 G

D

In the given figure, AB||HG. What is the
value of a ?

(A) 15
(B) 25
(C) 75

(D) 5

@ @idy aIg @19 / SPACE FOR ROUGH WORK
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16, 690F E9GES gqe §88 ewenig

117.

268 ?

(A) SR OB 8 QeQ Toe ebey

(B) TR ANQY Qe il Beg 0sd
geiof afe

(€) QEde Inegdq ol odel

QIE0R IR B YNITSY T
(Satal]

(D)

Fe Aug 696 ode daid ael W
QNRNRS QIFIGA QEF 7

edlad Qeagy aARIRe] 2RY

(A)
FRINIRG ARIAG SO

(B) GIEG® ZIEAISRIOY TIEASR a
QeaIe 69F

Scuion o1y Bde mrica daide

()
anQyl QoI DI AR 69/ RaR

(D) qee 88 arg 9ge aiel

116,

117,

Page |29

seT -(A]

Which is the specific behaviour of
understanding based questions ?

Identifying Mathematical
definitions and formula.

(A)

(B) Propose alternate methods for
solving Mathematical problems.
Verifying the results of
Mathematical generalizations.

(©)

Mathematical estimation and

verification of proofs.

(D)

Which of the following is not an example
of enrichment programme for a student
of Mathematics 7

(A) Helping fellow students in solving
problems.

(B) Providing opportunities to organize
Mathematical seminars.

(€) Attempting to solve problems of

students within school hours.

(D) Preparation of new teaching aids.

o @Idy aid AI9 / SPACE FOR ROUGH WORK
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118, 660 H0Q 910 99 QAT 6aIEN 6019 @

119.

120.

61T Ge] QIGEN 1§ 2569, 0 11 6Q.
60 UESN REQ | LINe 6T gy
6R60 7

(A) 4240 m

(B) 4440 m

(C) 5100 m

(D) 5340 m

o189 F990 e o869 aid cod aad
ISR 26Q ?

(A) ININR 998 g OIC K9P 08!

TRIT goIf aRGea ANTAVI
2N AN

6ITNT 19° 6RQ FIE 6RIET K88
N 9g 9918

(B)

(©)

(D) IRAIF® 99 0oBe f

PENIS 606k’ 40 ABINAE CITEIE RENGY
269 ?

(A) Qe ade
(B) QT e89Ig BIgY g8 K4S

(C) 2eT edel
(D) Q898 Qe cRYe!

118.

119.

120.

Page |30

SET - A

A 660 m long train crosses a bridge and a
pole in 1 min 25 sec and 11 sec
respectively. What is the length of the

bridge ?

(A) 4240 m
(B) 4440 m
(C) 5100 m
(D) 5340 m

Which condition is necessary to ensure
objectivity of the test ?

(A) By encouraging descriptive
answers,

By adopting subjectivity in scoring
procedure.

(B)

By asking questions which have one
and only one answer,

(D) By putting guessing questions.

(©)

Which one of the following is affective

domain in teaching Mathematics ?

(A) Counting numbers

(B) Interested in Solving Mathematical
Problems

(C) Solving Mathematical Problems
(D) Write the number after
multiplication

Qe @idy aig @19 / SPACE FOR ROUGH WORK
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seT -(A)

(0Geea Gmig / ENVIRONMENTAL SCIENCE J

. 900 cafel 2 >
21 soellipl 6960 69uTQ ad9E® | 121. Which of the following does not change
during the melting of ice ?
A
(A) Sige g (A) Density
(B) ISR
(B) Volume
(C) IO
(C) Temperature
n
SR (D) Phase
122. €54 QINIEAS QIAI QA1E €6l @IAR | 122. Which Act passed by British Parliament
¢ARIT 1919 AARIER VO VAR VISR in 1919 did become Government of India
§a &7aI 7 Act?
(A) N69g-690Q 6T1¢ Q]UR LR (A) Montagu - Chemsford Reforms Act
(B) esi-fesl QIR @G ZIAR (B) Morley - Minto Reforms Act
(C) SMTeRe fan 29 (C) Cabinet Mission Act
(D) QUGN VIR (D) Rowlatt Act
123. QIGEER 690 QY QDo Q9R S99 WeA | 123. Withwhich crop was the green revolution
eRIQ2M 7 started in India ?
(A) IR (A) Rice
w (B) Wheat
(C) 219 (C) Sugar cane
(D) <a (D) Cotton
124. 210 21g0 coIGacn @' SQIde 860 7 124. What should be done when fingers are
burnt ?
(A) Squiae Aan aeIae! (A) To apply Aloe vera lotion
(B)_zeiaifiea 89 28 QP (B) To dip the wound in cold water
(C) ReRARY 6 (€) To bandage the wound
(D) Q& VAT (D) To pour ink
OTET/P-1 (47)
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125. §@1917 8 §@4 6E8e60 U MNMNG
QEVVA! VIS ELAYD VO AUMIFAO
S6AAIER CRATH DINEIRS! Q6H AT 7

(A) 8 o8q
(B) €84 Q0N 00188

) _aende oarse

(D) 699F & Q6F

126. 9UT QAYIAR QIG1 696% §0 eamare 7

« (A) 8818 geeear eee
(B) d@igive 28 86 agdul
(C) dmiEhee Qe idioas
(D) dsiice Zowe 891 2919

127. GIGER Q1A AVRER AU ARG
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125. In the statistical analysis of quantitative
rescarch in teaching-learning processes in
education, which of the following is not

required ?
(A)
(B)
(©)
(D)

Intelligence test

Learning achievement test
Physical test

None of the above

Which one is determined by the
placement evaluation ?

(A) Entry behaviour of pupils

(B) Minor learning difficulties of pupils
(C) Overall achievement of pupils

(D)

126.

Major learning deficiency of pupils

127. Which vitamin is required during the

JIGYee! arg ? early stage of pregnancy ?
(A) 21IAR (A) Thiamine
Mq@q (B) Folic acid
(C) TR 9de (C) Ascorbic acid
(D) fuide (D) Niacin
128. RURSIH QARG ABIGEI 84 7 128. Who is the protector of Indian
Constitution ?
(A) @igod (A) President
(B) 6QILAG {(B) Lok Sabha
(C) UNCR (C) Rajya Sabha
(D) _S6919 f4IIea (D) Supreme Court
OTET/P-1 (48) (Continued)
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s 1% not
429 FE7I9 Aug 6R6C 4@ aeEge auq 129. Which one of the following 1% not @
Q€§ ! greenhouse gas ?
(A) TEIERIT] (A) Carbon dioxdde
(B) G&9R (B) Ozone
(C) UIREE, (C) Argon
\.-/’ 1
(D) 6K (D) Methane
130. 660 QIANIYIEG LA €91 YRIQ 27°C 130. At what temperature, velocity of sound
fRie Yege 6Re 7 will be double of its value at 27°C ?
(A) 54°C (A) 54°C
(B) 600°C (B) 600°C
(C) 927°C (C) 927°C
Nt——
(D) 1200°C (D) 1200°C
131, QIGER 9@ VGEIQ 87 @@ 78960 15N | 131. A block of body weighs 15 N in spring
CoNIoRl 696R QIE6R ol'a 699 12N balance in air and its weight in water
codied | 9% adie Qe 1 gm/cc 9, shows 12 N. If the density of water is
Qgeee 2cOAQ gag 6960 629 7 1 gm/cc, what is the specific gravity of
the block ?
(A) 0.8 (A) 0.8
(B) 0.25 (B) 0.25
5
© % © %
- D) 5 (D) 5
OTET/pg (49)
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32. QI : 'AY
132. 6QILY QIR 9@ QACEEYS OL6R ‘A 9 | 132. A vehicle moves along a straight path

‘B '0‘0‘46'20 Lm/hr CRGER ORI QG:‘ ‘B from ‘A" o 'R at a 5Pccd of 20 PM/hf
q A" Qa4 30 L:n/hr GQG'{GQ TR | and returns from ‘B’ to ‘A" at a speed of
Qre QIgIER QINTR VIRNIG 699 6960 30 km/hr. The average speed of the
ase ? vehicle during the total journey is :
(A) km/hr (A) 25 km/hr
(B) 24 km/hr (B) 24 km/hr

\Q/D-‘-‘ km/hr (C) 225 km/hr
(D) 264 km/hr (D) 264 km/hr

133. Q69IS Saica MORE QVIAe QNG QIR | 133. To whom a teaching aid in the teaching

ale 9dg ? of Geography is meant ?
(A) 918 (A) Student
(B) &89 (B) Teacher
€ seamge ase Re (C) Both Student and Teacher
(D) SS9 (D) School

134. QL8 90N QIAIFeI Q°3IN ELQEe 134. When did the first struggle for Indian

sRIQyQl 7 Independence take place ?
(A) 1757 (A) 1757
w" \ (B) 1857
(C) 1919 (€) 1919
(D) 1942 (D) 1942

135. 6948 060F 0B6ea Saie gode 88IRI9a | 135. Which is not included under exhibition

Fa () @\‘.‘ ? mediated environment science teaching ?
(A aeI6a 98 2SR (A) Drawing diagrams on blackboard
(B) QIF eI (B) Use of charts
(C) 6oRGeR Qg (C) Television programme
(D) €84 CORER MRS (D) Use of tape recorder

e e

oTET/P1 (50) (Continued)
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136, AVR RN QI9 ) ota
?
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136. Where is located the Northern most part

(A) SIS of India ?
B %6 oigie (A) Ladakh
© oBie (B) Jammu & Kashmir
D) BI9% geog (D)), Punjed
(D) Himachal Pradesh
e 322?:12,?:96@ 98628 §8069 | 137. Which two environments are learnt by
) child during childhood ?
(A) 9I8eR 8 Qnge (A) Natural & Social
|) Qe e (B) Social & Physical
(€) 69159 ¢ arqde (C) Physical & Cultural
ywxﬁe 8 QAIEe (D) Cultural & Social
138. 696G UMY BeRIE 0Ig QR ? 138. Which one is different from other three ?
(A) g (A) Potato
wg (B) Sweet Potato
(C) o= (C) Radish
(D) QLR (D) Carrot
139. Bgje0 SuIQIRYS S6aa g8 AU] 6966 | 139. Which of the following characters is not
omice AIIAER 386a 28 S6a8 98 7 a part of education through computers ?
(A) o1 694 () ‘spoed
(B) QD& (B) accuracy
€) Q5618 (C) storage
(D) ol (D) intelligence
OTET/P-1 (51) (Continued)
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140, SMISA DRARER DAIESEE 08F BRA6e
Q8 DIN 8 PO PRIER DI JIR IES
DQuIR @89 QI8 6RIEY g ang
Soueng 8ae Fela 6O6R | ORGA 6Ra
UUINANIT OR ?

(A) OEIRO TOY YRIINR
(B) E8QC Q& QY TRUIR ALSQIR

\yéﬁe agieRad ARaa
(D) QIS AN YRGS

141. 9IQQQ FEIS QRNITE 696§ 6RIT

eRiIQag 7

(A) sagl
(B) I
(C) Q5IR Q9
(D) @eeeQ

142, QINCEI OTIER 6QE 48 QUORE 4 7

AL S2Ha
(B) 6@ \

(C) 6&°
(D) 9198
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140. Teacher instructed all the students of a

141.

142,

class to study the difference between
weather and climate separately in the
school compound. Which is a correct

concept of the procedure 7

(A) Limited period of observation

(B) Easier for the teacher to investigate

the work
(C) Possibility of daily observation
(D) Eradication of misconception

Which disease is caused due to mercury
poisoning ?

(A)
(B)
©
(D)

Pellagra
Minamata
Itai-itai~

Rickets

Which-energy is used in sailing boats ?
(A) Tidal ‘
(B) Solar
(C) Bio

(D) Thermal

143. 92AQ 2060 0501Q 0101 768 696 | 143. Which method is most useful for teaching
Q800 2R RO BEE ? history at primary level ?
(A) adieesa (A) Observation
(B) gode \ (B) Demonstration
(©) QaR (C) Story-telling
(D) 9%® (D) Project
R = 1
NTET / P-1 (52) (Continued)
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144, VIS QARG cog Mol B

(A)
(B)
(€

99 Zisaig

el 73
il 74
IRl 326

(D)8l 324

145. QI9ERQ NMHEA 2°Q codd 7
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144. Which article of Indian Constitution
indicates about an Election Commission ?

(A)
(8)
(©)
(D)

Article 73
Article 74
Article 326
Article 324

145. Which is the longest part of the alimentary
canal ?
Wil S (A) Stomach
i (B) Oesophagus
& (C) Large intestine
(D)L 8348 (D) Small intestine
146. 696 AING GOR 0A1GE GGAI 886 OBEIA | 146. Which standardised method indicates the
QQQIQ_ qeIear ? consistency of test scores in evaluation
process ?
(A) €3uQI (A) Validity
(B) ol (B) Reliability
(C) ayeeEael (C) Usability
(D) @gRee (D) Objectivity
147. 3GEE AUIQ CRENIRSR QEARR 147. Out of the following which are
Qe ? isoelectronic in nature ?
@ N, @) €O (i) NO* i) N, @) CO (i) NO*
(iv) CN~ (iv) CN-
(A) (i) Qe (i) (A) (i) and (ii)
(B) (i) Q9" (iii) (B) (i) and (iii)
(C) (i), (i) 4 (i) (C) (i), (if) and (iii)
(D) QLR (D) Al
o= 22
OTET/P-1 (53) (Continued)
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148. 606 2idn sad K106 AT 694
Q94 7
l-
(A) 76; E

lo
LR L

_1-.

(C) 86— E

10
92—~ E

149. .Q°Q91D AGLINEH 69Q ABNGR &da
QOIS QIR TILER BRRIA 298 7

(A) Quaad
(B) QuINAR!

O —chieas

(D) 696a SRAIAE

150. 2RZIAD VNNGRIQ 6RR I QIRER 7

(A) _S56aR,
(B) QN6 eNIq
(€) <Rde

(D) Q9ed

~000-
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148. Which meridian is very important for
India ?

(A) 767 E

B 82- E
86~ E

(©) 5

(D) 92

To whom are the Union Council of
Ministers accountable for wvarious
functions in the Parliamentary form of
Government ?

(A) President

(B) Prime Minister

(C) Lok Sabha

(D)

149.

People of the country

150. Which gas is released from landfill

wastes ?

(A) Methane
(B) Natural gas
(€ LPG

(D) CNG

~000-
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